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Seat 2. (a) For the binary tree r wmemuama as an array, perform in-order
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SE (Computer)- (Second Semester) EXAMINATION, 2017 [Rlo] Jufi[ | | [sle[ [ J I [ [T JTT 1]zl
ADVANCED DATA STRUCTURES (b) Define. DFS and BFS for a graph. Show BFS and DFS for
g (2015 PATTERN) 4]

Time : Two ....m.ofu.m_,... Maximum Marks : 50
N.B. :— S»Pbmémw four questions

(i) Figures to the right indicate full marks.

(ifi) Assume suitable data, if umommmsx,...

1. (@) From the given traversals construct ~the binary tree. [4]
Pre-order : G, B, Q, A,. X, F
In-order : Q, B, K, C

(b) Find the MST for the _mamﬁw» given using Kruskals Algorithm

(4]

() Write pseudo-code “for ”.@.m.mwoﬁbwbm level order traversal of

a binary tree. 4]

3. (@) Obtain AVL ﬁ.mm...m fro the following data

(6]
30, 50, 110, 80, 40, 10, 120, 60, 20, 70,100, 20
(b) For the given set of values. . [6]

11, 33, 20, 88, 79, 98, 44, 68, 66

characters (4] vt
Create a hash table with size 10 ‘and resolve collision using
Symbol |A|C|EH H., chaining with replacement and Y.S.#ﬁocﬁ replacement. Use the
Frequency [ 3|58 |2 |7 ... P L
= modulus Hash function. (key % size.)
P.T.O. [6252]-568 2
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